‘4# Multiplication within 100 Name:

Solve each problem. Answers
1) Paul was unpacking boxes of toys. If he has three boxes with seven toysin each box, how
many toys does he have all together? 1
2.
2) Jerry's mother had six photo albums with three pictures in each album. How many pictures
did his mother have total ?
3.

3) A delivery driver had to make six more stops on his route. At each stop he had to drop off || 4.
two boxes. How many boxes does he have?

5.
4) Biancawas making necklaces for her friends. She had three friends who wanted a necklace
and each necklace took eight beads. How many bead would she need total ? 6.
7.
5) A furniture store was selling new chairs for eight dollars each. If acompany bought two
chairs, how much money would they end up spending?
8.

6) A mailman had to give four pieces of junkmail to each house on ablock. If the block he's | o.
on now has four houses. How many pieces of junk mail does he need?

10.

7) Oliviawas buying soap for her bathroom. She bought nine packs with each pack having
seven bars. How many bars of soap did she buy? 11.

12.

8) Billy could fit three action figures on each shelf in his room. His room has nine shelves.
How many action figurestotal could his shelves hold?

9) Emily was practicing for a marathon. She practiced for eight days, running two miles each
day. How many miles did Emily run altogether?

10) It takes Henry four oranges to make a small glass of orange juice. If he wanted to make
eight glasses how many oranges would he need?

11) There are two teamsin the state trivia tournament. If each team has seven players, how
many players are there total ?

12) For Halloween six friends were dressing as pirates. If each costume cost two dollars, how
much did they spend?
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ﬂh Multiplication within 100 Name.Answer Key
Solve each problem. Answers

1) Paul was unpacking boxes of toys. If he has three boxes with seven toysin each box, how
many toys does he have all together? 1. 21

Equal Groups - (Unknown Product)

2) Jerry's mother had six photo albums with three pictures in each album. How many pictures ? 18
did his mother have total ? 12
Equal Groups - (Unknown Product) 3

3) A delivery driver had to make six more stops on his route. At each stop he had to drop off || 4. 24
two boxes. How many boxes does he have?

Equal Groups - (Unknown Product) 5 16

4) Biancawas making necklaces for her friends. She had three friends who wanted a necklace
and each necklace took eight beads. How many bead would she need total ? 6. 16

Equal Groups - (Unknown Product)

7 63
5) A furniture store was selling new chairs for eight dollars each. If acompany bought two
chairs, how much money would they end up spending? 27

Equal Groups - (Unknown Product)

6) A mailman had to give four pieces of junkmail to each house on a block. If the block he's | o. 16
on now has four houses. How many pieces of junk mail does he need?
Equal Groups - (Unknown Product) 10. 32

7) Oliviawas buying soap for her bathroom. She bought nine packs with each pack having
seven bars. How many bars of soap did she buy? 11. 14

Equal Groups - (Unknown Product)

12 12

8) Billy could fit three action figures on each shelf in his room. His room has nine shelves.
How many action figurestotal could his shelves hold?

Equal Groups - (Unknown Product)

9) Emily was practicing for amarathon. She practiced for eight days, running two miles each
day. How many miles did Emily run altogether?

Equa Groups - (Unknown Product)

10) It takes Henry four oranges to make a small glass of orange juice. If he wanted to make
eight glasses how many oranges would he need?

Equal Groups - (Unknown Product)

11) There are two teamsin the state trivia tournament. If each team has seven players, how
many players are there total ?

Equal Groups - (Unknown Product)

12) For Halloween six friends were dressing as pirates. If each costume cost two dollars, how
much did they spend?

Equal Groups - (Unknown Product)
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‘4# Multiplication within 100 Name:

Solve each problem. Answers
16 16 32 16 27
21 63 18 12 24 1.

1) Paul was unpacking boxes of toys. If he has 3 boxes with 7 toys in each box, how many

toys does he have al together? 2
3.
2) Jerry'smother had 6 photo albums with 3 pictures in each album. How many pictures did
his mother have total? 4.
5.
3) A delivery driver had to make 6 more stops on his route. At each stop he had to drop off 2
boxes. How many boxes does he have? 6.
7.
4) Biancawas making necklaces for her friends. She had 3 friends who wanted a necklace and
each necklace took 8 beads. How many bead would she need total ? 8
9.
5) A furniture store was selling new chairs for 8 dollars each. If a company bought 2 chairs,
how much money would they end up spending? 0

6) A mailman had to give 4 pieces of junkmail to each house on ablock. If the block he's on
now has 4 houses. How many pieces of junk mail does he need?

7) Oliviawas buying soap for her bathroom. She bought 9 packs with each pack having 7
bars. How many bars of soap did she buy?

8) Billy could fit 3 action figures on each shelf in his room. His room has 9 shelves. How
many action figurestotal could his shelves hold?

9) Emily was practicing for a marathon. She practiced for 8 days, running 2 miles each day.
How many miles did Emily run altogether?

10) It takes Henry 4 oranges to make a small glass of orangejuice. If he wanted to make 8
glasses how many oranges would he need?
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